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Rder: () 99 ¥ oot 30 ved &1 |t v sifeart &

Directions:

(ii)
(iii)

(iv)

(v)

(vi)

There are in all 30 questions in this question paper. All questions are
compulsory.

st FreriRe sic 395 W siftea &1

Marks alloted to the questions are mentioned against them.

TP U9 Pl SAFYGD Uled T FYfud IR QIfore|

Read each question carefully and answer to the point.

T AT 1 SEfIBedrd 99 &1 3 7 & TP WUs & IR H IR [dded
fer e | e fasey s STRyfRaa # feRaw | we v 2 & 9 a6 FHiad
SR e &

Question No. 1 is multiple choice question. Four options are given in
answer of each part of this question. Write correct option in your
answer book. Question No. 2 to 9 are definite answer type questions.
e T=T 1 BT TS WUS U 31 BT 8| Yo 1 2 | 9 I b 3 &
2 €1 JT TR 10 § 15 b &l 370 & Y & | T W1 16 & 23 O o
376 & YT & Y =T 24 I 30 TP IR 3P & I &

Each part of question No. 1 carries one mark. Question No. 2 to 9
are of one mark each. Question No. 10 to 15 are of two marks
each. Question No. 16 to 23 are of three marks each. Question No.
24 to 30 are of four marks each.

=G 9H-UF H 997 R PIS fabed Tl & Jnfy Sfaua g2 § siidRe fadbea
e fopar mar 21 O wgHl # act U faded &1 & IR alfore |

There is no overall choice in this question paper, however, an internal
choice has been provided in few questions. Attempt only one of the

given choices in such questions.

[11 [ P.T.O.




1. () S e e foferng o @el o a1 &, 39 {969 & pH d19 I#ad: 8nTl- 1

A solution turns blue litmus to red, its pH value is likely to be-

(i) 3 @) 57
i)z .8 (iv) 10

(@) TS 3T BT IS 7 & ' 1
The chemical formula of ethanoic acid is-
(i)  CH,CHO (i) CH,COOH
(i) CH,CH,OH : (iv) CH,-CO-CH,

(1) e = & forer um # fosdtt avg @1 wfcifore e €, 98 ©- 1
(i) oif=an iy  gRamRer
(iii) g . (iv) gfeued
The human eye forms the image of an object at its-
(i) Cornia (i) Iris

(i) Pupil (iv) Retina

(o) FrefeiRad # § o 91 urey €M 8- 1
(i) oA (i)  effeRifaad
(il)) WSS (iv) TGS
Which of the following is a plant hormone-
(i) Insulin (i) Thyroxin
(iii) Cytokinin (iv) Oestrogen

() fooeit ieir dor & o & Sar$ h dn it & S8 h' &1 Mea ador gRT
3MaE= gnT- 1

In a spherical mirror the height of an object is h and height of image is h'.
The magnification produced by spherical mirror will be -
(i) m=h'/h (i) ~ m=hxh'
(iii) m=h+h' " (iv) m=h/h'

() A IeTd aR 5% yere, daTs e s wHE &, foet forga uRRuer & uget sionmd
7 3R R uredesn # HAfoTa v S €1 SoTeH a URamd dioH | 3ad
SIS &7 3FIUTd &R 1
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Two conducting wires of the same material and of equal lengths and equal
diameters are first connected in series and then parallel in a circuit across
the same potential difference. The ratio of heat produced in series and
parallel combinations would be-

(ei1:2 (i) 21
(i) 1:4 (iv) 4:1
(B) faa ufeRrer &1 S.1. 991 8- 1
(i)  TERR iy AT
i)y 3| C(iv) -3 iR
The S.I. unit of electric resistance is -
(i) Ampere (i) Volt
(i)  Ohm (iv) Ohm metre
(37) FrafcRaa # 3 & & gl § $aa sig Fea<ong ver &- 1
(i) O, T5F a7 THeT (i) O, Ciohs! Ol TiRe®

(i) B P oeIh, $H G AG BT (iv) DD, ADSI T U

Which of the following groups contain only biodegradable items-

() grass, flowers and leather (i) grass, wood and pIasticA

(i)  fruit-peels, cake and lime-Juice  (iv) cake, wood and grass
DI DI &l IREUT & A1 foRked | 1
Write the name of two allotropes of Carbon. :
AR BT D G feirae | 1
Write the chemical formula of marble.
fr=ferRaa srfrfesan o suafRia aem sroafia yeref & gea™ Bifora- 1
Identify the substances that are oxidised and reduced in the following reaction-

ZnO + C > Zn + CO

I HFd 771 & fore T gfte & =geam & feat e 1
What is the least distance of distinct vision for normal human eye?
AR & IR S aTet ToTgH & A el | 1

Write the name of enzyme found in Saliva.
3 e 1 T faRae, St e & (Rt o R s e § wew S 9o

Name a device that helps to maintain a potential difference across a conductor.

233 (HHI) [31] [ P.T.O.
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17

SER Kl # IMPIER 3721 Meifies 3uiehT i ot =R 371 &° 1
In food chain, autotrophs or the producers belongs to which tropic level?

T B IRR § 39 71 o1 T foRRed S & e ueeew et Ao kel @1 1
Name a gland in the human body that secreates both hormone as well as

enzyme.

3gend! sifaarss d 39 1 gHgd 81 Frefafad § & 3waent sifaarss Bifca- 2
What do you mean by Amphoteric Oxides? Choose the amphoteric oxides among
the following-

Na,O, ZnO, CO,, ALO,

T €1q BT A T T TARadr S A A1 IR G4 e § urg Sl 2| 2

Write the name and symbol of the metal that exists in liquid state at normal
temperature.
fFr=feRaa o saaie fawg wRaHT §15- 2

Draw the electronic dot structure of the following-
(i) NH, (N CH,

UHTeRTT JoIT 3WATeRTl T & 3779 o1 937 &1? YAd Bl U 3aTex0T [e1Rad | 2

What do you mean by unisexual and bisexual flower? Write one example of

each.

AMa 9 s o foi frgfRor 9 dar gv _ )
How is the sex of the child determined in human beings?

R gealy Fa1 8° 390 HaRur & o i Yo & o &7 T Bar? 2

What is hypermetropia? What type of lens is used for correcting it?

(®) TR i BT RIS M T G feTRgd T 3696 dis ar 3uan o fofedr) 2

Write the chemical name and formula of bleaching powder and write its
two uses also.

(@) TR 3icT BT g PR & fore 6 wfsaw aifires o1 suan fvar siar &2 1

Which Sodium compound is used for softening hard water?

() BTFFISHIDRUT FT &7 TSI 3TN srpra ferked | 2

What is hydrogenation? Write its industrial application.

233 (HHI) | [4]




18. AT BifTeT (FR) BT Tes e S5 o 33 e sl ot aerfgd- 12 +15 =3
(i) &P (ii) g (i) dfraraT
Draw a neat and clean diagram of the neuron and label the following parts in it-
(i) Nucleus (ii) Dendrite (iii) Axon

3qdr /OR

A 37d: FIAY 97 T a8 THifhd e S50 a2 399 SfeiRad {RT &l aenigd-
(i) oS (3@g) (i) guor (iii) 3T
Draw a neat and clean diagram of the human endocrine system and label the
fbllowing parts in it- ‘
(i) Thyroid gland (i) Testis (iii) Pancreas

19. HFa ARG & A GBI YT &I AHICERT BIfSTI TAT TP b B 4l AT | 3
Mention three main parts of human brain and give the function of each.

20. W%W%mmﬁﬁ?@a@%%ﬁmaﬁwwmaﬁmm
@1 faue 989 &H 81 8° 2
What do you mean by spectrum of light? Which colour of spectrum deviates
the most and which colour deviates the least?

(@) el o1 3udcH & Ham foRad| 1
Write Snell's law of refraction. '

21. (&) ©_e] faga uRuelt # siferwRor & qara & fore qon w@entRll skaml anfeee. 2
What precautions should be taken to avoid the overloading of domestic
electric circuit?

() TR & @i & Big ar 1ot ferlka | 1
Write any two properties of magnetic field lines.
233 (HHI) [5] } [ P.T.O.

(@) 3ERIIERoT 3ififehar & e 3amexr &5 1
Give an example of neutralisation reaction.
31[@1 /OR
(&) 319 Tl Bl DicT BT PR FeBT & fgeTa § AT ST & Y [Jer o1 31 ot seet
ST &7 2
Why does the colour of copper sulphate solution change when an iron nail
is dipped in it?

(W) TP R IS TAGER @ 'X' DI G Bl JURART F TH PR TR a8 BIet AT BT & STl

21 39 dd 'X' U9 3 Bl I & e o1 14 gz | 1
A shiny brown coloured element 'X' on heating in air becomes black in
colour. Name the element 'X' and the black coloured compound formed.




22. () 2 e qeal A T B ¥ HHL: 60W, 240V TRAT 100W, 240V 3ifdset &1 T IRD
gared & a1 §  fpwre wferier aifers gm? 2
Two electric bulb A & B are marked 60W, 240V and 100W, 240V respectively.
"Calculate which one of the two has greater resistance?

(W) U T F 25 T BT I 10 AbUs F YT g | e I Falfeed T bl
TOHT DI | 1
25 Coulomb of charge flows through a conductor in 10 sec. Calculate the
current flowing through the conductor.
23. R I T THEI 81? $99b G UTH! Bl JuH Hitord | 3
What do you mean ‘by ecosystem? Describe its major components.
31dr /OR
U UIRaT § S5 6 YATE BT 3IRE o7 §15Y AT S9PT Wfere guiH diford |
Draw a diagram showing flow of energy in an ecosystem and describe it briefly.
24. o1 8T & ST§-(pae IRTafe FHIER0T feifad) 1x4=4
What happens when-(Write only chemical equation)
() e & fvan Aifsaw esgiadss foeom 3 & Jwdl ©
Zinc reacts with sodium hydroxide solution.
(i) TTH-ad AE TR WY aTed B STl &
Steam is passed over red-hot iron.
(iii) POFIED 31T B WST TEPEIHT b T AT B S 2
Ethanoic acid reacts with sodium bicarbonate.
(iv) F5Teas @1 373°K a0 TR fopar e &1
Gypsum is heated upto 373°K
31[di/OR
() Woid e FRaT= & JaTexvr |fed 3iaR foRad | 2
Differentiate between roasting and calcination with example.

() TRERAPRUT FT &2 ISP THIBRUT T THITSY | 2

What is esterification? Explain with chemical equation.
25. () F=faRaa diffiet @1 1uPAC ™ faRedr- 9

Write the IUPAC name of the following compounds-
(). CHs —ﬁ—H (i) CH,CH,—C=C—CH,
O
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() U= & foTe 31T fopam TRaMTcH® THIaTa!T &I foraol & Gobd & 7? 2

How many structural isomers can you draw for pentane?

26. (&) TRITOT qRr e fipar # s e iR 2
Differentiate between pollination and fertilisation process.

(@) wfciad! foban @ &2 ufcact fobar & AR oF FaT YfHeT &2 | 2
What is reflex action? What is the role of brain in reflex action?

27. () TIIUNET GrSor qorr fIuHu) divor # qur 3R 2° JHEEd | 2
What are the differences between autotrophic nutrition and heterotrophic
nutrition? Explain.

(W) ITHaTd TT BIT &2 HHRA YgaH a1d 7T 3RIRIeH aTq emenT foe = grar 872
What is blood pressure? What is the approximate value of normal systolic
pressure and diastolic pressure?

28. TSI &l 3 BIC BT AT o a1 a2 gui dteli & i s 1 e sifsra 14
Draw a labelled diagram of the longitudinal section of a flower and explain the
sexual reproduction in flowering plants.

3di/OR

(®) ST geh THE & YN B TATE Fai & T &2 1
Why is the use of iodised salt advisable?

() USTISH T &7 USTISH Bl Dl Uh B feiRad| 1
What is enzyme? Write any one function of enzyme'.

(1) W I A U ST a1el 399 auie &1 9 faRad | 1
Write the name of respiratory pigment found in human blood.

() 3T # fgavs o dad foF gRT @wiiEdl 1
Show binary fission in Amoeba only by figure.

29. 2 I o U avg 20 JH BIH g aTel 3T O B G a7 P ead ! 2l o
3 % o U 30 I B | $HD GRT S aTet Ffcifes Bt RAfer, SBR, Fepict o e
T Bt | 4
An object 2 cm in length is placed perpendicular to the principal axis of a Convex
lens of focal length 20 cm. The distance of object from the lens is 30 cm. Find
the position, nature, size and magnification of the image formed. .

3di/OR

233 (HHI) [7]1 ‘ [ P.T.O.




(@) U 3rade 90T gRT 5t o=y bt Frrferaa Rerferadt § T R ufafea S a1 &
fore Sact fosxor IR §153, 576 9 2
(i) 2dUT & BIHT F qT Ighal P C & & &l
(i) afoT % ga P TN BIHA F & a1 &
Draw. only ray diagram to show the formation of image of an object by a
concave mirror, when object is placed-
(i) between focus F and centre of curvature C of the mirror.
(i) between pole P and focus F of the mirror.

() TSl AT < 1.5 3TaHich o BId B TIc 3 JIL BT & | Biel 3 YebreT Bl Tret Fat
gr? (arg ¥ YT @ ae=3x108ms) 2

Light enters from air into a glass plate of refractive index 1.5. What will be

the speed of light in glass? (Speed of light in air=3x108ms™)
30. =1 aRuer amg & 7o SifoTa-

In the given circuit diagram, calculate-
(i) TR & Ha ufcRTe 1

The total resistance of the circuit
(i) uRuy # yarfea Fet fogd amn

The total current flowing in the circuit

N |-

—

(iii) TAD TieRIeS A Yared fogd emT - 1%
The current flowing through each resistor
50
L{ 1 100
N S2 AMWWAS. S
rd r rd y re
XN L 300
©
A v
}l ‘ | (o ——®—=
12V
Xk kK KX
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